
Language Identification Organizer
Listen closely and check off each sentence or partial sentence as you hear it.

[  ]  in December, strong wage growth and, of course, unemployment

[  ]  We added all these jobs, but that doesn't

[  ]  then inflation should come down because then companies don't have to raise wages to compete
for workers

[  ]  raised interest rates all the way to 20 percent. By comparison,

[  ]  does not raise concerns about too high inflation.

[  ]  Bernanke's saying is that the relationship between unemployment and inflation

[  ]  companies would raise prices to try to get ahead of the trend, and that would

[  ]  between low unemployment and high inflation is weaker

[  ]  is really dead or just resting. But if it is,


